Parts List

Driver / left fender flare
Passenger / right fender flare
Hex bolt, M6

Rivet nut, M6

Flat washer, M6

Lock washer, M6

Insert tool, M6

Left hand-nut, M8
Thread-set washer
Thread-set spacer




